IELTS speaking, part 2:
Does the Doughnut represent a financially sustainable economic model?
You should consider the impact that the need not to overshoot the ecological ceiling may have on the profit margin of companies (1), as well as the challenges posed by a possible slow down of economic growth (2).
[bookmark: _GoBack]You should also consider the difficulty of persuading companies as well as governments that unending growth is not an ideal objective (3) and that lifting people out of poverty and drawing them into the green safe area representing general well-being is a sound investment for global development. 





IELTS speaking, part 3:
How can policy makers negotiate a trade-off between sustainability and profitability?

